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bnd-sSemester 1, Examination in Engineering (Repeat),
August 2018

Instructions for candidates

e Write your index number on top of every page.

Question paper contains 50 multiple choice questions.

e Iach question carries 0.4 marks.

e Answer all questions. Fach question has only one answer.

e Read the question and all answers before making the choice.

N

e For each question, put an X mark on the : {(b), (¢}, or (d) which
corresponds to the correct answer, by using a bf{a@:k or blue pen.
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e Time allowed is 1 hour and 30 minutes

Linus Torvalds

1. Founder of the C 1a,ﬂguage is (a) out.exe
I T
(a) Richard Stallman (b) xyz.out
( vz .ob
(b) John von Neumann (¢) xyz.obj
(d) a.out
)
)

Dennis Ritchie 4. A program with a compile error
2. The command gcc -o obj.o myprog.c (a) can not be executed.
at the Linux prompt implies that (b) can be linked with other library files

(c) can be executed, but an error mes-

(a) myprog.c may be the source file and sage will be displayed

it uses stdio.h library functions. ' ‘
(d) will produce wrong results during

(b) myprog.c may contain mathemati- execution

cal functions.

(c) obj.o is the result of the above 5. Which of the given words is not a key-
command word in C7
(d) obj.o is an already compiled li- (a) int
brary file. (b) register
3. The command gcc xyz.c will produce (c) float

the executable file (d) function



I

7. The code
int x, V3
printf (" %d", x =3 )3
contains
(a) a syntax error
(b

(c) no syntax errors

N

7 run-time error

(d) ervor or not depends ony value

[0}

. The program

#incliude <stdio.h>

‘

int main(void){ printf(/*XYZ7); #/.
return 0;}.
() prints XYZ
) prints nothing
(¢) has syntax errors
) creates run time memory segment

fault

9. Which of the given statements makes the
pointer int *ptr; points to the variable

int %7
(a) ptr = &x;
(b) *ptr =x;

(c) *ptr l=x;
(d) ptrlx]="x;

10. If the pointer int *ptr points to x, then
% can be assigned 3 by

(a)

™o

12. Which of the given operators is an unary
operator?

13. Which of the operators has lowest prior-

14. Type of a variable defines
(a) the size of the memory required to
hold data.

(b) possible operations on variables of
considered type.

() the kind of data to be stored
(d) all given by above answers
15. The preprocessor directive
#include <stdlib.h>
defines a
(a) variable
(b) symbolic constant
(c) library file
(d) class



(a) char x;
(b) char x[1007;

int

) void
(d) char

18. What is given in the following?
int fun[22];

1

(a) Declaration of array fun with 22 el-
ements

(b) Definition of the operator [ 1.

(c) Declaration of arre 21 el-

ements

ay fun with

(d) Definition of 22 functions under the

[
o]

Which of the given characters is a
end of a C-String?

20. What is the meaning of x = y; ?

(a) Assign the value of y to the x
(b) x is equal to .
(¢) Is the x equal to y?
(d) Is x is not equal to y?
21. What is the meaning of x == y; 7

(a) Value of y is assigned to the x.
(b) xis equal toy

)

what is the meaning of ¥ t= vy;

Foy 3 B f 17 1 aaal 1
(a) Value of y is assigned to the x.

24. The expression 25 = 24 evaluates to
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The expression 1232 == 123 evaluates to
(a) 1
(b) 0

(c) 6
(d

e Nt
[ole}

26. Aflter execution of
x=2 L S o5 S o
the value of x is
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28. The expression (x + y * 5) > 25 evalu-

ates to 1 if

( .
(¢) x = 11
(

29. The expression (3 == 33 || 3 1

evaluates to

30. The expression (10 ~-= 4 && 5<3 ) eval-

uates to
) 1

b) 0

(c) -1
)

(d) Non of the above choices

(a
(

31, if(Ix) printf("Yes");
This displays Yes only if z is

(a) 0

(b) greater than 0 or less than 0.
(¢} is less than 0.

(d) greater than 0.

32, if( x+10 > 10) printf("Yes");
This displays Yes if x is

(a) greater than 10.
(b) less than 10.

(¢} less than 40.
(d) less than 55.

34, if( = » 100 && x f$205} printf ("Yes™);

A

else printf ("No”

This displays No zf x 18

(a) 100
(b) 110
(¢) 125
(d) 205
35, Af(x<=150 1] x>178) printf("Yes");

else printf ("No");
This displays No if x is

(a) 150
(b) 160
(c) 180
(d) 148

5. Af((x<10 11 x>2B) &k (x<-10 1|
x>-25)) printf ("Yes");
This displays Yes if x is

(%]
<y

(a) -15
(b) O
(c) -30

(d) any of the above.

37. (12==5 && 31=3) || (4+5 || 3-4+1)
This expression evaluates to
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36, 1 b= 2) printf ("KM

-

ey ¥ sharactoar ¥ oig i
How many 0e Coaracver A 18 gis-

played?

B

(a)
(b) 3
(0
) 5

L

(

40, for(i=20; i<i0; i == 2)
iQW many times 'u 18 Cf& acter
played?

£ 18 dis-

(a) 0
(b)
(c) 4
(d) 8

41. i=0;while(i<B){ printf("%a",i);++i;}
This code prints

ot

01234
012345
1234
12345

(a)
(b)
(c)
(d)

42. 1=0;while(i<4)++i;printf ("%d",i);
The value of i displayed is

a) 0123

) 4

c) 3210

d) Non of the above

TS
o
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43. Sum=4;i=2;while(i<=5){Sum+=i;++i;}
This code sets Sum to

. for(i=-5, j=11;i<34;

) goto can be used to direct to an-
other case.

default is not optional.

break prevents execution of next
case.

continue makes execution of previ-
Gus case.

ca=lh=l; f=1;

while(a<=14)
{ £=a+b;
b=a; a=TI;

prantf (" %d 7,

£);
.

}
Above code displays

(a) 23691424
(b) 233111523
(¢c) 23581321
(d) 236102271

it=j,==7)
L printf (" Yd ", §); 3
Above code displays

(a) 1110987
(b) 119753
(c) 10886-5
(d) 1095-32
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(b) even numbers.
N ¢ £ b e 15 1 r . .
(c) fractional numbers. 50. If y=8, after calling the function as
0 z=add3(y), where
L int add3(int =)
{ return xdxty;

}

.
value of z is

) definition (a) 8
) call (b) 24
(¢c) name (c) 888
) 1

prototype {(d) non of the above.



